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TR24F4A KRBT
BT (X) £ HEH| B S E BT (X) £ HEH| B S E BT (X) £ HEH| B S i BT (X) £ HEH| B S E BT (X) £ HEH| B S E

=L 47 63 64 127 |/K SET 152 227 265 492 (1K 296 363 385 748 | =HET 64 109 113 222 (REHET 89 124 144 268
th T 28 36 42 78 [[RESH 224 338 292 630 [Fi2X 292 377 393 770 | S=BAHET 42 64 65 129 | R EHT 47 72 88 160
$BaET 44 51 55 106 | L% HHAT 94 142 176 318 |3 46 48 53 101 [#8 MEr 33 53 54 107 [R5 H{RET 35 69 73 142
T HT 81 104 100 204 |#@KHET 24 50 39 89 |t mEHET 535 760 812 1572 |4BIEFHT 20 43 45 88 |{HIgs AT 14 28 32 60
FaHTET 90 111 130 241 (ZEHHAT 26 35 38 73 | FEARHET 7 113 105 218 |¥5TUET 80 117 116 233 | L S HHAET 18 26 22 48
REHT 43 54 59 113 | & ST 55 89 84 173 | FrHET 82 138 125 263 | RATHT 188 | 254 | 263 517 | S HHET 37 55 65 120
£ REET 262 368 366 734 |12 REHET 189 288 290 578 |EH—TH 77 101 110 211 |§28T 53 66 61 127 |5 #1RET 59 82 90 172
J\BTHET 12 16 17 33 |V ZHT 89 141 154 295 |EH_-TH 97 119 150 269 | ELHET 111 130 121 251 [ HEET 35 76 66 142
=l 20 31 47 78 |JKEHET 63 92 103 195 |®#WM=TH 100 112 142 254 |fELET 438 564 553 | 1,117 [[RBHET 61 94 107 201
A RIET 24 36 48 84 |12 ERHET 14 24 26 50 (ZEHMETH 146 186 220 406 | RS ET 49 69 79 148 (KA SHET 22 38 54 92
R—&HT 29 35 35 70 |BINEHR 320 430 411 841 |[EWAETH 79 115 114 229 |FrfEAX 149 194 199 393 M BHT 39 58 72 130
HRET 79 81 95 176 |fBBE—TH 194 264 267 531 | 45 64 51 115 |EBMX 122 170 157 327 |BRAHT 34 55 55 110
H=HAT 26 28 36 64 [f2BAERX 59 93 104 197 |#B—TAH 151 226 244 470 [FEIBMX 152 200 223 423 ILB&E—TH 60 76 93 169
HN\YVER 448 548 595 | 1,143 |B)IIHX 3 1503 | 2213 | 2249 | 4462 [HE=TH 193 270 291 561 |#EMETRX 74 102 101 203 |lLULBAZ=TH 87 132 132 264
[iPAVESFS 100 123 139 262 |TFHAEFHT 89 128 127 255 |HIR=TH 158 230 234 464 |=sEHT 132 173 180 353 |LULBA=TH 88 128 134 262
[GIAVESES 234 318 327 645 |7 BHAEET 64 103 90 193 | TH 127 214 220 434 |FEE—TH 56 80 70 150 [[LEETTH 134 125 162 287
NVES it 202 224 246 470 |/N LHT 21 36 36 72 |RE—TH 153 198 200 398 [H¥EAZTH 117 145 175 320 (ILS&BEAETH 87 139 147 286
$rEET 455 687 722 | 1,409 | EFEFET 61 87 94 181 [RE=TH 197 292 316 608 |3 B /T 93 146 124 270 |lLULBAATH 109 172 161 333
BRET 17 22 18 40 | A EFET 69 97 89 186 |t Ak ET 94 113 130 243 (hEMX 5t 1,973 | 2679 | 2699 | 5378 [LEHX 5t 1,055 | 1549 | 1,697 3,246
AT 12 10 16 26 |TBEFHIX  F 304 | 451 436 887 [lt=ETE —TH 116 179 198 377 |FHAET 159 225 210 435 | FREE—TH 138 187 197 384
ERATRX 18 20 27 47 | BB 91 138 156 294 |t RBEBE_TH 135 197 235 432 | E=O#T 52 83 88 1M [FRER=-TH 95 135 114 249
SRHTHET 19 23 33 56 |¥AZHET 143 203 227 430 [ 5t 3190 | 4415 4728 | 9,143 |5 T 91 130 125 255 [FREFR=TH 150 193 202 395
JBET 96 105 114 219 |ZR9ET 225 269 302 571 |fESLET 197 277 322 599 |AEHET 192 308 321 629 | FRERTTH 159 219 228 447
HEARET 548 754 749 | 1503 |dt SHT 65 96 115 211 [EAEINX 88 120 133 253 |45 stLET 31 58 58 116 [FRERETH 127 169 179 348
LK1 100 113 118 231 | BAISRPE S BT 16 23 22 45 |HHEJIIX 57 76 100 176 | Z LET 81 116 136 252 [FHREFERATH 157 234 249 483
deEAR2X 192 247 268 515 | K SLET 24 43 40 83 |iEHEJIIX 43 72 77 149 | &I UZET 117 174 176 350 | FREFFE—TH 125 164 171 335
JEHEARIX 62 61 76 137 [L%RME 70 71 95 166 |#8)11FTET 119 177 193 370 & KHET 52 90 94 184 [FREBF -_TH 137 187 178 365
R4 189 286 264 550 | =R —TH 136 209 213 422 |+ HgET 18 33 44 77 | E BT 16 25 31 56 | FHREAB=THE 130 183 188 371
JEHEARER 321 426 440 866 |FREIMIX &t 770 | 1,052 | 1,170 | 2,222 [#HFHHX 5t 522 755 869 | 1624 (AT (EF—TH 89 131 127 258 | FREBEMTH 100 129 144 273
JtEAR6X 191 247 246 493 | = {RET 124 167 211 378 = KHET 417 621 595 | 1216 [#FFE=TH 55 81 70 151 | FREBHETH 135 167 167 334
EXTBE=TH 147 178 176 354 | EAIERER 9 13 15 28 | & K T 356 519 541 1,060 |#FIE=TH 66 91 102 193 [FREBEATHE 135 184 197 381
H=—TH 83 106 102 208 B 9 16 17 33 |42 1EET 43 70 78 148 |A#FFWTH 99 140 133 273 | FREFELTH 177 241 265 506
EE_TH 99 122 142 264 |FHHX 9 13 13 26 = KHHET 61 90 105 195 (AT (FERTH 65 95 96 191 | FREB/NTH 115 145 154 299
EFB=TH 91 108 128 236 [sEALET 4 56 71 127 | ERFRET 37 59 54 13 [#F(EARTH 68 85 88 173 | FREE—TH 107 157 159 316
Am—TH 96 112 119 231 [ ERET 22 32 29 61 |/\EH R HET 47 75 81 156 |#EE—TH 94 144 132 276 | FREFE_-TH 147 220 218 438
AH_TH 115 148 192 340 [/7IET 39 53 70 123 |/\EHET 117 184 198 382 [BE=THE 56 76 83 159 | FHREX 5t 2134 | 2,914 | 3010 5,924
Hi5—TH 72 85 100 185 [ L/IN)IIET 37 43 66 109 (—IxRHET 60 70 83 153 [MditiX 5t 1,383 | 2,052 | 2,070 | 4,122 [+fHT 109 138 155 293
EB-TH 109 152 141 293 | EHAHT 31 39 49 88 | & ERET 152 222 242 464 |1&;THT 360 515 504 | 1,019 |SRAHAET 94 117 129 246
#E—TH 124 141 156 297 | = {RHTHT 101 166 167 333 |REKRMX 342 517 494 | 1,011 |HBIERT 101 164 163 327 |FaHAET 90 128 120 248
XEB-TH 89 143 140 283 [B4EHBK 79 107 109 216 [hEXRTR 164 233 241 474 |BiE AT 317 431 395 826 |TAH—TH 103 129 125 254
RIE—TH 153 185 202 387 | = [RAT 62 95 90 185 ‘A& X 113 157 151 308 |EH AT 336 508 482 990 | _TH 72 82 87 169
KEZTH 57 63 72 135 |SRMX  § 563 800 907 | 1,707 [—EFEHEX 197 293 259 552 [#pitX 5t 1,114 | 1618 | 1544 | 3162 [FmHE=TH 64 90 94 184
B —TH 63 7 78 149 & HET 125 209 213 422 [HSVFERE—TH 74 101 102 203 R EFET 69 104 90 194
5% -TH 56 68 80 148 | K5k BT 84 128 148 276 |HEVHIE=TH 109 140 148 288 BREIREFET 89 124 115 239
#H=TH 17 29 30 59 [HAEERX 112 147 186 333 [HTVHEE=TH 75 96 100 196 Fa 3SR EFHT 78 99 100 199
BX—TH 116 172 189 361 [HHER—TH 149 130 189 319 |HSVEZEMTE 116 172 153 325 mERE—TH 64 87 91 178
BR=TH 10 13 12 25 |RH#E=-TH 60 76 77 153 [/\EHEX 82 120 131 251 ESie 65 63 80 143
AXETH 97 116 137 253 |RAKFHR 78 114 122 236 [MBiIX 5t 2562 | 3,739 | 3756 | 7,495 USRI St| 897 | 1,161 | 1,186 2,347
BRATH 50 66 74 140 | R FHILE 123 180 182 362

BEXtTH 109 130 150 280 [#FFHHX 45 65 75 140 MEHIE 3§ 24,825 | 34,359 | 35921 | 70,280
BRNTH 98 140 149 289 | FHAEMX 42 64 50 114

BAXAATH 1 1 4 5 | M HmEX 187 261 284 545

BX+TH 9 10 9 19 |—AHX F 1,005 | 1,374 | 1526 | 2,900

MIEBMX 5t 5850 | 7,587 | 8,074 | 15661
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k2454 A RBRE
BT (X) 4 HEHR| B X g BT (X) 4 HER| 3B x g BT (X) 4 HER| 5 = &t BT (X) 4 HER| B x g BT (X) 4 HEE 5 X h

EINE: (o5 36 39 46 85 |/\HEHET 144 180 | 203 383 [k RHET 114 158 176 334 [AIRBTEE 44 68 88 156 | #ERT 45 71 77 148
EINELap 147 226 | 244 470 | ==HT 49 75 84 159 |tk R BT 223 271 302 573 |AIAETLE 38 46 51 97 |BAAREFET 22 36 43 79
=) ETEE 36 51 55 106 EILIET 205 308 339 647 |EAFET 203 331 350 681 |3l RIET{E R 106 150 175 325 |773— LBt 28 49 44 93
EJNElrS 115 146 174 320 (FR EBHT 51 87 85 172 [BA%—TH 101 154 153 307 [(AIRETEYDE 54 76 80 156 |3 & ET 61 88 113 201
EJNEd:ri) 32 47 50 97 | E LLET 45 79 A 150 |3& %<5 HET 41 63 60 123 A RET S AR 56 81 72 153 | & RHET 40 48 46 94
EJIIE4:E 39 43 52 95 [—/BMIX 5t 494 729 782 | 1,511 |FEELFAET 36 66 66 132 [(AINET O EE 15 25 27 52 | T EFHET 44 79 81 160
EJIIE i) 45 56 62 118 |ERE S BT 114 118 116 234 |FiEET 57 87 87 174 [AINETHEE 3 2 6 8 | LZ7HT 99 168 178 346
EJNEaES 35 42 47 89 |8k HTHET 93 124 132 256 | AT 146 227 234 461 |;RIPRETELith 5 5 6 11 [=3RET 32 50 55 105
EJNER:r 58 7 77 148 |BBRABT—TH 30 4 48 89 (BAEIMTH 177 257 266 523 |A] BT AR 21 31 45 76 | FTHE 25 24 35 59
EJIIF RIS 28 30 40 70 |ESEAXRETZTH 31 41 47 88 [BAX=TH 115 141 149 290 |;AI AT £ 9 9 11 20 (L& 18 29 29 58
EJNE i) 37 31 46 77 |[EBBEARET=TH 40 62 73 135 [&NKFHET 107 156 163 319 [AIRMETHR 15 18 15 33 (BI=HET 62 84 99 183
Z)NISHETR 151 190 217 407 (EBRAETMT B 187 261 268 529 | & AHET 153 233 244 477 |AIRET &R/ 5 4 3 7 (BI= HiET 16 27 29 56
EJNE:E Sk 46 47 57 104 |#53k5H A BT 154 178 | 221 399 |BAERET 93 155 160 315 A RET T 4 2 2 4 42 7RET 51 50 49 99
EJNECES 72 102 104 206 |#5kEIRET 111 143 148 291 |ZAEr AT 79 98 108 206 | NETAE 19 22 21 43 |8 FFIKET 27 36 42 78
EJNP o) 84 96 124 220 |#53k L ERAT 38 40 47 87 BB AEHET 86 113 106 219 ORI & 394 539 602 | 1,141 [EiEET 18 21 27 48
=)IERTER 100 137 136 273 |48k T AT 31 35 42 77 | E ST 310 441 429 870 [F&HE 64 89 101 190 |Zc FET 15 14 13 27
EJNEIN:r] 40 49 59 108 (#&k B 35 51 51 102 |F7ER A SE AT 34 45 39 84 | L HE 97 103 140 243 | =V HEHT 5 1 4 5
EJNEINIEY 86 89 97 186 |EREX1<FHAT 176 221 253 474 |MAIBX Bt 2,075 | 2,996 | 3,092 | 6,088 |BkEDER 55 83 75 158 |4 #AET 3 3 2 5
EJNEnp: kil 190 267 279 546 |E8RETET 78 98 120 218 (B FET 176 261 289 550 [#£ B 18 36 37 73 | B R BT 11 10 11 21
=) FNKRETR 197 251 278 529 |#B3k /K FHT 31 36 42 78 |FOET 124 185 214 399 | KPR 15 - 15 15 |H+ &8 - - - -
)| 5t 1574 | 2010 | 2244 | 4254 |#BEKEET 202| 260 274 534 | K/rET 58 83 88 171 |#E% 37 28 43 71 |HRET 2 2 - 2
REAT 270 | 364 | 423 787 |¥ak K ETHET 64 109 106 215 |BHZ EET 19 26 31 57 |#E 37 62 52 114 |E7HulT 1 - 1 1
FHRET 248 317 345 662 |#8RKFET=TH 7 10 12 22 |{THT 51 83 89 172 | FKi& 26 45 43 88 |+H;EHT 23 32 48 80
FBET 39 55 60 115 (#8R/KFET=TH 57 84 102 186 |/ SERET 42 69 79 148 | ERiB 26 36 35 71 |EFKET 43 53 62 115
RIEHET 40 69 65 134 (#BR/KFETEET B 29 37 38 75 |REFHET 62 82 73 155 | RiBH 11 17 16 33 [FEAHET 61 89 101 190
fif ) 141 237 223 460 |48k A SHET 29 38 51 89 |t RHET 50 73 81 154 |he 51 50 60 110 | L AET 44 58 70 128
ESE 253 356 396 752 |ESSRIMIX Bt 1,537 | 1,987 | 2,191 4,178 | e KHET 22 31 35 66 [SHOMis 5| 437 549 617 | 1,166 |FE{x BHET 34 59 52 11
S jth BT 74 110 120 230 | A15HET 234 343 379 722 | BRI 294 396 427 823 =VERHE 55 92 112 204
FAn#T 244 (321 353 674 |/NHNET 180 | 244| 269 513 |t REHET 149 212 228 440 SR LT 45 70 79 149
BT 303| 419| 456 875 |BA=TH 153 [ 213 201 414 (gekZ BT 200 283 284 567 IN:iloa i) 5 5 6 1
ESET 16 17 23 40 |/ ET 79 109 124 233 |iRAAHET 150 224 214 438 J4SHE 17 23 15 38
EBFHE 129 224 215 439 | B {HF8T 233 351 370 721 | /4ERERET 10 20 14 34 SHMtiE § 952 | 1,371 | 1,523 2,894
EBTHR 114 183 | 200 383 |BABHETIL/E 43 53 64 117 |FH O EHET 51 84 91 175 B 61 69 80 149
BEEFEh 119 | 201 187 388 |BAEHETE /A 21 32 34 66 |LEAETAT 130 200 199 399 =a 7 7 4 11
IREX § 1,990 | 2,873 | 3066 | 5939 [EAEETHAT 49 76 75 151 [SEBMIX 5t 1,588 | 2,312 2436 | 4,748 R 79 96 118 214
EET1X 53 76 74 150 |BA S ETEE /4% 33 53 56 109 xR 34 29 49 78
EE2X 47 56 81 137 |&F/ KRFHHET 26 39 36 75 |EBSRithiE 5 7,777 [ 11,077 | 11,545 | 22,622 ®=0O 24 22 23 45
EET3X 43 55 60 115 |BHE ST 84 142 132 274 R 8 7 6 13
EET4R 46 53 77 130 | L& BHT 50 77 73 150 Bra 1 2 1 3
EESX 120 154 170 324 | THSHET 78 117 109 226 HERFRX 25 34 36 70
EET6X 133 177 182 359 |FREAHET 166 255 224 479 EOi#his 5t 239 266 317 583
ERT7X 36 59 52 1M1 | HEES ST 218 325 298 623 Big 274 375 378 753
RET8X 89 103 117 220 |RZSHT 241 321 310 631 25 87 111 109 220
EETOX 108 126 134 260 (LR SHT 121 172 172 344 THER - - - -
EBT10K 227 291 320 611 |FEFRSHET 23 32 31 63 Bt 5t 361 486 487 973
EET11R 23 35 29 64 (PR SHET 51 99 87 186

EET12K 130 222 202 424 | & 2,083 | 3,053 | 3044 | 6,097

EMX 5t 1,055 | 1,407 [ 1,498 | 2,905 & &t 39,604 | 54,937 | 57,820 | 112,757
=)t 5t 4619 | 6290 | 63808 | 13,098




